S—raoR[ERADEW] R. 014£07H 05
ouT IN Gross _ Hdcp Net

BiE B3 % 39 39 36 354
B HE H— 39 39 3.6 354
3 INFR R 441 44 8.4 35.6

4 B0 ILE o0/ 50 144 356

5 RKE ZHF0 461 46 96 364

6 A B 45 45 8.4 36.6

] h RAF —— 451 45 8.4 36.6

8 (BFE1E 4% 45 45 8.4 36.6

9 W OAER 45 45 8.4 36.6
10 EH #Eb 48 48 108 37.2
11 RIak 5 ER 47 47 96 374
12 =+ #HF o0 50 12.0 38.0
13 ER 47 47 8.4 38.6
14 LE R 45 45 6.0 39.0
15 e = o/ 37 18.0 39.0
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S—raVR[BERDEMR] R. 014607 H05H
ouT IN Gross Hdcp Net
16 AT ) 45 45 6.0 39.0
17 Bl BH 44 44 48 39.2
18 EN TR 49 49 96 394
19 MK IhE 42 42 2.4 39.6
20 BEE = 45 45 48 40.2
21 AR FX 47 47 6.0 41.0
22 =X FA 23 503 120 41.0
23 S| H= o4 04 120 420
24 =H {&H 02 D2 8.4 43.6
25 A EE 741 74 18.0 56.0
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